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Compulsory Question

Attempt questions in all. Question No. is compulsory. All questions

carry equal marks.

1. Attempt all questions : 16

(i) Explain the objectives of financial planning.

(ii) Discuss Priority Order Decision.

(iii) Explain Capital Assets Pricing Model.

(iv) State the meaning of Trading on Equity.

(v) What do you mean by Bonus Share?

(vi) What is Commercial Papers?

2. Define Financial Management. Discuss the nature and functions of

Financial Management. 16

dqy iz'uksa ds mÙkj nhft, A iz'u la[;k vfuok;Z gS A lHkh iz'uksa ds vad

leku gSaA

lHkh ç'uksa dks gy djsa %

foÙkh; fu;kstu ds mís';ksa dh O;k[;k djsaA

çkFkfedrk vkns'k fu.kZ; ij ppkZ djsaA

iwathxr laifÙk ewY; fu/kZj.k ekWMy dh O;k[;k djsaA

bfDoVh ij VªsfMax dk vFkZ crk,aA

cksul 'ks;j ls vki D;k le>rs gSa\

okf.kfT;d i=k D;k gS\

foÙkh; çca/u dks ifjHkkf"kr djsaA foÙkh; çca/u dh çÑfr vkSj dk;ks± ij ppkZ

dhft,A

ik¡p û

(vfuok;Z iz'u)
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3. A Ltd. has following two investment options :

Machine I Machine II

Cost of machine 4,48,000 1,20,000

Life of machine 5 years 8 years

Sales per annum 3,00,000 3,00,000

Cost :

Material 1,00,000 1,00,000

Labour 24,000 1,20,000

Variable overheads 48,000 49,000

Compute and compare both investment options under Pay Back Method and

Average Rate of Return (ARR) Method. 16

I II

ARR

4. The following information has been extracted from the balance sheet of

Modern Ltd. as on March 31, 2019.

Rs. in Lakhs

Equity (Rs. 100 each) 2,500

12% debenture 300

Term loan (interest 0.08) 1,200

You are informed that rate of Corporate Tax is 35 percent :

(i) Determine the weighted average cost of the capital of the company. It

had been paying dividends at a constant rate of 20 percent per annum.

, fyfeVsM ds ikl fuEufyf[kr nks fuos'k fodYi gSa%

e'khu e'khu

e'khu dh dher 4]48]000 1]20]000

e'khu dk thou 5 o"kZ 8 o"kZ

fcØh çfr o"kZ 3]00]000 3]00]000

ykxr %

lkexzh 1]00]000 1]00]000

Je 24]000 1]20]000

pj mifjO;; 48]000 49]000

is cSd eSFkM vkSj ,ojst jsV vkWiQ fjVuZ ( ) eSFkM ds rgr nksuksa fuos'k fodYiksa

dh x.kuk vkSj rqyuk djsaA

Total 4,000
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(ii) What difference will if make it the current market price of Rs. 100 per

share is Rs. 180. 16

%

(i)

(ii)

5. Explain the Modighani and Miller approach of capital structure. 16

6. What is Dividend Policy? Explain the factor influencing the dividend policy

of a company. 16

7. What is the meaning of Working Capital? Explain the factors affecting the

working capital requirement of a business. 16

8. What is Lease Financing? Explain its advantages and limitations. 16

31 ekpZ 2019 dks ekWMuZ fyfeVsM ds cSysal 'khV ls fuEufyf[kr tkudkjh fudkyh

xbZ gSA

#- yk[kksa esa

bfDoVh (#- 100 çR;sd) 2]500

12 fMcsapj 300

lkof/ ½.k (C;kt 0-08) 1]200

vkidks lwfpr fd;k tkrk gS fd dkWikZsjsV VSDl dh nj 35 çfr'kr gS%

daiuh dh iwath dh Hkkfjr vkSlr ykxr fu/kZfjr djsaA dEiuh çfr o"kZ 20

çfr'kr dh fLFkj nj ij ykHkka'k dk Hkqxrku dj jgh gSA

D;k iQdZ iM+sxk vxj ekStwnk cktkj ewY; #- 100 #i;s çfr 'ks;j dk #- 180

gksA

iwath lajpuk ds eksfn?kkuh vkSj feyj n`f"Vdks.k dh O;k[;k djsaA

ykHkka'k uhfr D;k gS\ fdlh daiuh dh ykHkka'k uhfr dks çHkkfor djus okys dkjdksa

dh O;k[;k dhft,A

dk;Z'khy iwath dk D;k vFkZ gS\ fdlh O;olk; dh dk;Z'khy iwath dh vko';drk

dks çHkkfor djus okys dkjdksa dh O;k[;k dhft,A

yht iQkbusaflax D;k gS\ blds ykHk ,oa lhek,¡ Li"V dhft,A

dqy þ]úúú
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